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Helpful Tips: Before you begin your proof…
1.  Mark your diagram with all the given information
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2. Look for any hidden facts
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3. Identify the method you will use to prove the triangles congruent 
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4. Know your definitions and use them to determine missing facts
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In the accompanying diagram, FZ bisects IZ and /= 2K
K
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Remember to look for ONLY these

combinations for congruent triangles:
SAS, ASA, SSS, AAS, and HL g riangie)
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Given: C is the midpoint of BD and 4E
Prove: MABC = MEDC

A B
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Given: ZADB and ZCDB are right angles
LA =20
Prove: AADB = ACDB
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Given: AB= &, BD isamedianof AC
Prove: A4BD = ACBD

B
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Given: MP and NQ bisect
cach other ot 0.

Prove: AMNO = APOO
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R P
DB bisects Z4BC.
Prove: A4BD= ACBD.
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Given: £L=

N, ZLOM=/NMO

Prove: ALMO=ANOM

Reasons

1. 1.

2. 2.Given

3. 3. Reflexive Property
4.ALMO=ANOM |4,
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RS, and £PQS=2RSQ
R

P s

Prove: AABC=ADBC
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Inthe diagramof AABC and ADEF below, A = DE. Z4
E





